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Rapid Identification of Accidentally Spilled Mineral Oil by GC/MS

Sumio Nakajima, Noriyuki Nakayoshi, Kunio Inoue and Kozo Fujita

It is important to discriminate between the light oil and the A heavy oil, when mineral oil is
accidentally spilled into river or soil and the species of oil should be determined. We developed a
simple and easy pretreatment method according to the concentration of oil in water. We also
developed a simple and easy method using gas chromatography-mass spectrometry (GC/MS) to
identify mineral oil in water. It is possible to discriminate the A heavy oil from the light oil
analyzing the mass chromatogram pattern of sulfur compounds included in the A heavy oil using
m/z184, 190, 198 and 212 scan. Our scan measurement by GC/MS can detect the minimum

amount of about 8 mg/L of light and heavy oil in hexane dilution.
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